Math 367 In-class Assignment 4

Name k/ 53'/

1. Let D denote the square metric on the Cartesian plane R?, that is,

D((z1, y1), (5132: Yy2)) = Iﬂax{|$2 — 1|, [y — y1|}

for all real numbers x1, Ts, y1, y2. Consider the model in which points, lines, half-planes,
and angle measure are as usual for the Cartesian plane, but distance is given by the
square metric. Let A = (0,0), B = (2,0), and C = (2,2). Let A’ = (—4,2), B’ =
(—2,0), and C" = (0, 2).

(a) Sketch the two triangles AABC and AA'B'C'.
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(b) Find all angle measures in each triangle, and record them.
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(c) Find all side lengths for each triangle, and record them. (Remember to use the
square metric!)

AB=29 Bl= 2 AC= 9
AlB= 2 gle'= 2. delz 4

(d) Does the Side-Angle-Side Postulate hold for this model? Explain.
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2. Prove Theorem 3.5.9: If £ is a line and P is a point on ¢, then there exists exactly one
line m such that P lies on m and m L £. (Hint: Use the Angle Construction Postulate.)
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3. Prove the Verticle Angles Theorem (Theorem 3.5.13): If angles ZBAC and £LDAE
form a vertical pair, then Z/BAC = ZDAE. (Hint: Use the Linear Pair Theorem.)
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